
令 和 ６ 年 度 

一 般 入 学 試 験 （ １ 期 ・ 前 期 ） 問 題 

外 国 語 （ 英 語 ） 

( 薬学部・看護学部・健康医療科学部・心理学部・国際看護学部 ) 

注 意 事 項 

 

1. 問題冊子は，試験監督者の指示があるまで開いてはいけません。 

 

2. 問題冊子と解答用紙（マークシート）は別になっています。 

 

3. 解答用紙には解答欄以外に下記①～④の記入欄があるので，試験 

監督者の指示に従ってそれぞれ正しく記入し，マークしなさい。 

 

① 氏名欄 氏名およびフリガナを記入しなさい。 

② 受験番号欄 受験番号（数字および英字）を記入し， 

さらにその下のマーク欄にマークしなさい。 

③ 試験種別欄 【一般入試 ① 】 にマークしなさい。 

④ 教科・科目欄 【外国語（英語）】 にマークしなさい。 

 

4. 解答は，解答用紙の解答欄にマークしなさい。 

例えば，  10   と表示のある問いに対して ③ と解答する場合は， 

次の [例] のように解答番号 10の解答欄の ③ にマークしなさい。 

[例] 解答 

番号 

解 答 欄 

 1 2 3 4 5 6 7 8 9 0 

 10 ① ② ● ④ ⑤ ⑥ ⑦ ⑧ ⑨ ⓪ 

 

5. 試験時間は，60 分です。 
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Ⅰ 次の英文を読んで設問に答えよ。 

 

Although it’s tricky for people to see, mouse feelings are written all over their furry 
little faces. 
 
A research team in Germany trained a computer program to study the faces of mice 
for signs of emotion. It was able to reliably spot expressions of joy, fear, pain and 
other basic emotions. Those signs offer a sort of “field guide” for scientists who study 
emotion. And understanding the emotion in animals better could help (  1  ) too, 
the researchers say. They described their new findings in the April 3 Science. 
 
Nadine Gogolla studies the brain at the Max Planck Institute of Neurobiology. It’s 
in Martinsried, Germany. She and her colleagues treated mice in ways to trigger 
distinct emotions. To evoke pleasure, they gave the mice sugar water. A shock to 
their tails triggered pain. Bitter *1 quinine (KWY-nyne) water led to disgust. An 
injection of the chemical *2 lithium chloride made them uneasy and queasy. And 
being put somewhere they had been shocked in the past sparked fear. For each 
setup, high-speed video cameras focused on the animal’s faces. These captured 
subtle movements in the animals’ (  2  ) and more. 
 
An observer would likely see that a mouse’s face changes, Gogolla says. But 
translating those subtle changes into emotions? That’s really hard, she says. That’s 
true “especially for an untrained human being.” 
 
But a computer had no trouble, the researchers found. They used an approach called 
“machine learning.” It (3) in / for / to / patterns / a computer program / directs / scout 
images. The program analyzed thousands of video frames of mouse faces. It spotted 
subtle movements that accompanied good or bad events. 
 
For instance, take the face of a (presumably happy) mouse drinking sweet water. 
The ears move forward and fold toward the body. At the same time, the nose moves 
down toward the mouth. The face looks differently when the mouse tastes bitter 
quinine. Its ears move straight back. Its nose curls slightly backward, too. 
 
Using machine learning to reveal mouse expressions is “an extraordinarily exciting 
direction,” says Kay Tye. She is a neuroscientist at the Salk Institute for Biological 
Studies in La Jolla, California. She was not part of the new study. The findings “lay 
the foundation for what I expect will be (4) a game‐changer for neuroscience research 
on emotional states,” Tye says. 
 

この部分に記載されている文章については、

著作権上の問題から公表することができません。
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The activity of nerve cells in a mouse’s brain also changed with distinct emotions, 
other analyses showed. These cells reside in a region known as the *3 insular cortex. 
This deeply buried spot (  5  ) a role in human emotions, too. 
 
By (6) prodding cells there to fire signals, the researchers could prompt the mice to 
display certain facial expressions. These connections may lead to insights on the 
neural basis of emotions. They also could help scientists explore what goes wrong 
in disorders such as anxiety, the researchers suggest. 
 

出典： Science News Explores (2020), Laura Sanders, “Mice show their feelings on their faces” 
https://www.snexplores.org/article/mice-show-feelings-on-their-faces 一部改変 

 

（注） *1 quinine water: キニーネ水（蒸留酒を割るときなどに使用される炭酸水） 

*2 lithium chloride: 塩化リチウム     

*3 insular cortex: 島皮質（大脳皮質の一領域） 
  

この部分に記載されている文章については、

著作権上の問題から公表することができません。
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問１ 空所 (  1  ) に入れるのに最も適当なものは次のうちどれか。   1    

① study human guides 

② guide human studies 

③ humans study guides 

④ humans guide studies 

 

問２ 空所 (  2  ) に入れるのに最も適当なものは次のうちどれか。   2   

① ears, noses, whiskers 

② chests, eyes, noses 

③ bellies, mouths, whiskers 

④ eyes, hearts, mouths 

 

問３ 下線部 (3) を意味が通るように並べ替えたとき，3 番目と 6 番目に来る組合せは次のうちどれか。  

  3    

① 3 番目： in 6 番目： scout 
② 3 番目： patterns 6 番目： to 

③ 3 番目： directs 6 番目： for 

④ 3 番目： to 6 番目： patterns 

 

問４ 下線部 (4) を他の表現に置き換えるとき最も適当なものは次のうちどれか。   4    

① a brainteaser 

② a breakthrough 

③ a mind-reader 

④ a superpower 
 

問５ 空所 (  5  ) に入れるのに最も適当なものは次のうちどれか。   5   

① full 
② to perform 

③ plays 

④ taking 

 

問６ 下線部 (6) の説明として最も適当なものは次のうちどれか。   6    

① producing fire signals in the cells of the insular cortex 

② leading cells to the insular cortex with fire signals 

③ stimulating cells in the insular cortex to give signals 

④ introducing cells in the insular cortex to sending signals 
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Ⅱ 次の英文とグラフを読んで設問に答えよ。 

 

Taxes on labour increased in 2022 as rising *1 nominal wages pushed workers into 
higher *2 tax brackets and reduced their eligibility for *3 tax credits and *4 cash 
benefits, according to a new OECD report. 
 
Taxing Wages 2023 also shows that while nominal wages increased, high inflation 
across the OECD caused wages to decline in real terms, resulting in a double     
(1) blow for workers. 
 
With inflation reaching its highest level in over 30 years in 2022, the new OECD 
analysis shows effective tax rates rose in a majority of OECD countries across a 
range of income levels and household types, with a significant increase for families 
with children, particularly at lower income levels. 
 
Different approaches OECD countries take to indexing tax and benefit systems to 
inflation reveal that 17 OECD countries automatically adjust personal income tax 
systems in line with inflation, while the remaining 21 (2) do so on a discretionary 
basis. Social security contributions and cash benefits are automatically adjusted in 
21 and 19 countries, respectively. The report highlights that low-income households 
with children are most vulnerable to increases in their effective tax rates when tax 
and benefit systems are not fully adjusted for inflation. 
 
The report focuses on cross-country comparison of the labour tax wedge – defined 
as total taxes on labour paid by both employees and employers, minus family 
benefits, as a percentage of labour costs. It looks at eight different household types, 
varying by income level and household composition. For a single worker earning the 
average wage, the tax wedge ranged from 53% in (  3  ) to 0% in (  4  ) in 2022, 
averaging 34.6% across the OECD as a whole. 
 
 
 
 
 
 
 
 
 
 

 

一部改変 

この部分に記載されている文章については、

著作権上の問題から公表することができません。
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On average across the OECD, the tax wedge for a single parent earning 67% of the 
average wage increased by 1.6 percentage points between 2021 and 2022 to 16.6%, 
the largest annual increase in the average tax wedge since 2000 for any of the eight 
household types covered by the report. For (5) a one‐earner couple earning the 
average wage with two children, the average tax wedge of 25.6% in 2022 reflected 
an increase of 1.1 percentage points from the previous year – the largest rise for this 
household type since 2000. 
 
Taxing Wages 2023 enables cross-country comparisons of labour costs and the 
overall tax and benefit position across the OECD. It analyses income tax paid by 
employees, cash benefits received by in-work families and the associated social 
security contributions and *5 payroll taxes made by employees and employers, 
(  6  ) are key factors when individuals consider their employment options and 
businesses make hiring decisions. 
 

出典： OECD (2023), “Double blow for workers as inflation drives real wages down and 
labour taxes up” 
https://www.oecd.org/newsroom/double-blow-for-workers-as-inflation-drives-real-
wages-down-and-labour-taxes-up.htm 一部改変 

 

（注） *1 nominal wages: 名目賃金     

*2 tax brackets: 課税区分 
*3 tax credits: 税額控除     

*4 cash benefits: 現金給付     

*5 payroll taxes: 給与税 

  

この部分に記載されている文章については、

著作権上の問題から公表することができません。
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問１ 下線部 (1) を他の表現に置き換えるとき最も適当なものは次のうちどれか。   7    

① advantage      

② breeze      

③ damage      

④ fraction 

 

問２ 下線部 (2) の説明として最も適当なものは次のうちどれか。   8    

① take different approaches to inflation 

② index tax and benefit systems to inflation 

③ reveal OECD countries in line with inflation 

④ adjust personal income systems for inflation 

 

問３ 空所 (  3  ) と (  4  ) に入れる国名の組合せとして最も適当なものは次のうちどれか。  

  9    

① (  3  ): Finland (  4  ): Korea 
② (  3  ): Germany (  4  ): Costa Rica 

③ (  3  ): Belgium (  4  ): Colombia 

④ (  3  ): Spain (  4  ): United Kingdom 

 

問４ 下線部 (5) について，2021 年の the average tax wedge の値として最も適当なものは次のう

ちどれか。   10    

① 23.4 %      

② 24.5 %      

③ 25.6 %      

④ 26.7 % 
 

問５ 空所 (  6  ) に入れるのに最も適当なものは次のうちどれか。   11    

① they      

② that      

③ which      

④ what 
 

問６ 本文ならびにグラフの内容に合うものは次のうちどれか。   12    

① Across the OECD, real wages increased as well as nominal wages. 
② Cash benefits were automatically adjusted for inflation in 19 OECD countries. 
③ In 2022, 39 countries around the world were members of the OECD. 
④ Taxing Wages 2023 did not analyze income tax but payroll taxes. 
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Ⅲ 次の各問い（ 問１～問 10 ）の空所を補うのに最も適当なものを，それぞれ下の  ①～④ から一つ

ずつ選べ。 

 

問１ The traffic hasn’t gone back to   13   due to the car accident. 

① regular     ② normal     ③ usual     ④ standard 

 

問２ None of the students knew   14   the teacher had gone out of their classroom. 

① what     ② which     ③ why     ④ who 

 

問３ My father is worried about   15   up late every night. 

① me to stay     ② I stay     ③ my being stayed     ④ me staying 

 

問４ House prices will   16   because of the government’s policy. 

① fall     ② reduce     ③ raise     ④ discount 
 

問５ Kevin prefers to play basketball rather   17   it. 

① to watching     ② to watch     ③ than watches     ④ than watch 
 

問６ This dishwasher isn’t working. It needs   18   immediately. 

① to repair     ② being repaired     ③ repairing     ④ repaired 
 

問７ Stuart seems   19   the ukulele when he visited Hawaii. 

① to try to play ② to try playing 

③ to have tried playing ④ to try to have played 
 

問８ You are very kind   20   me carry these tires. 

① of     ② to help     ③ helped     ④ with 

 

問９ The police officer didn’t accept the reason   21   I gave her for going through 
a red light. 

① which     ② why     ③ where     ④ for which 

 

問10 Bob used to come to see me every   22   day. 

① another     ② other     ③ one     ④ two 



- 8 - 

Ⅳ  次の各問い（問１～問５）において，それぞれ下の  ①～⑤ の語句を並べ替えて空所を補い， 

文を完成させよ。ただし，解答は   23  ～   32   に入れるものの番号のみを答えよ。 

 

問１ 君がいなければ，次の試合に勝つことはできない。 

If it         23           24         win the next game. 

① they     ② you     ③ for     ④ weren’t     ⑤ couldn’t 
 

 

問２ この先に何があっても，彼はここを出ていくことはないだろう。 

No matter         25           26         never leave here. 

① what     ② the future     ③ he’ll     ④ happens     ⑤ in 

 

 

問３ 私が出かけている間は，兄が子どもたちをよく世話してくれます。 

My children         27           28         by my brother while I’m away. 

① taken     ② care     ③ are     ④ good     ⑤ of 
 

 

問４ このホテルは私たちが去年の夏に滞在したホテルよりもはるかに良い。 

This hotel is far         29           30         last summer. 

① the one     ② at     ③ nicer     ④ we stayed     ⑤ than 

 

 

問５ ケイトは彼に追いつこうとしてできるかぎり速く走った。 

Kate ran as         31           32         him. 

① with     ② up     ③ fast as     ④ to catch     ⑤ possible 
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Ⅴ  次の対話文の   33  ～   37   に入れるのに最も適当なものを，それぞれ下の  ①～④ から 

一つずつ選べ。 

 

問１ A: Have you heard? Ellen will get promoted to general manager! 
B: Yes.   33    
A: I think so, too. She has always worked hard and has good leadership 

qualities. 
 

① I doubt she’ll become an excellent leader. 
② I’m afraid she knows little about it. 
③ I’m sure she deserves it. 
④ I wonder if she would make it. 

 

 

問２ A: Let’s take a taxi. I’m so tired that I can’t walk any further. 
B: Oh, come on.   34   

A: So, you walk there, and I’ll go by taxi. 
 

① We may as well take a taxi. 
② It’s better for our health to walk. 
③ Would you rather walk home? 

④ Where shall we find a taxi? 

 

 

問３ A: Are you planning to participate in the summer camp next month? 
B: No,   35   . 
A: Why not? 

B: Well, simply because I don’t have enough money. 
 

① it isn’t that easy 

② I’ll never miss it 
③ I’m not alone 

④ you can’t do it 
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問４ A: I have to get a passport before I go to Barcelona. 
B: You had better apply for it well in advance, because it’s likely to take a 

while. 
A:   36    
B: I don’t know exactly, but mine took a full ten days. 

 

① How can I take it? 

② How did you know that? 

③ How long does it take? 

④ How many times did you get yours? 

 

 

問５ A: Can you order some eggs for me tomorrow? 
B: Sure. Anything else? Flour? Coffee filters? 
A: Well, we still have enough flour. But, coffee filters will soon be out of stock. 
B: OK. I’ll   37   . 

 

① get some eggs and flour 

② give you new coffee filters 

③ buy these bags of flour 

④ order some of them and the eggs 

 

 



 

〈英語〉  １期・前期  正答・配点 

  解答番号 正答 配 点 

 

Ⅰ 
 

（20点） 

問１ 1 ② 4 点 

問２ 2 ① 4 点 

問３ 3 ④ 4 点 

問４ 4 ② 2 点 

問５ 5 ③ 2 点 

問６ 6 ③ 4 点 

 

Ⅱ 
 

（20点） 

問１ 7 ③ 2 点 

問２ 8 ④ 4 点 

問３ 9 ③ 4 点 

問４ 10 ② 4 点 

問５ 11 ③ 2 点 

問６ 12 ② 4 点 

 

Ⅲ 
 

（20点） 

問１ 13 ② 2 点 

問２ 14 ③ 2 点 

問３ 15 ④ 2 点 

問４ 16 ① 2 点 

問５ 17 ④ 2 点 

問６ 18 ③ 2 点 

問７ 19 ③ 2 点 

問８ 20 ② 2 点 

問９ 21 ① 2 点 

問10 22 ② 2 点 

 

Ⅳ 
 

（20点） 

問１ 
23 ③ 

4 点 
24 ① 

問２ 
25 ④ 

4 点 
26 ② 

問３ 
27 ① 

4 点 
28 ② 

問４ 
29 ⑤ 

4 点 
30 ④ 

問５ 
31 ⑤ 

4 点 
32 ② 

 

Ⅴ 
 

（20点） 

問１ 33 ③ 4 点 

問２ 34 ② 4 点 

問３ 35 ① 4 点 

問４ 36 ③ 4 点 

問５ 37 ④ 4 点 

 


